g/ d N°®

Ratio to ATLAS

P2 Ipb/GeV]

d K

1071

1072

1073

1074

0.5

13000 GeV pp tt
L L L B e )
n _ 15
- ttHT (ATLAS semileptonic ttbar) 13

1=

m  ATLAS o

| —A— Pythia 6.428 370 _n
— --o-- Pythia 6.428 atlas-csc J3
— -+ Pythia 6.428 d6t 15
| m Pythia 6.428 default - §
&

1@

-1 ™M

=

(40

o

o

™

—

%

&

-

1S

— <

)

419

[%)]

IS

- Q.

— (@]

N T =

T | T T T T |:
—2
1
i e -3 ]
— O —0.5
3,

| "I’ 1 1 " | " 1 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |

0 500 1000 1500 2000

Hr "} [GeV], N** = 6



	Contents
	Page 1


